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The figures in the right hand side margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable

The questions are of equal value (1X 40) = 40

1. The component of environment includes:

a) Abiotic factors b) Biotic factors c) Both the above d) None of these
AR 97 GAM @feT =eT:
a) WG BAMH b) (SR BN 0 ToIR d) (PRGE 7T
2. Which one of this gas is common in Troposphere, Stratosphere, Mesosphere and Thermosphere?
a) Nitrogen b) Oxygen c¢) Carbon dioxide d) Nitric oxide
2 MTISET NT (I A Troposphere, Stratosphere, Mesosphere 4I8Thermosphere & TSN I ?
a) NIR(GITGH b) SIS ) FRACIR THRG  d) VRF TH2G
3. Region where fresh water meets salt water is called:
a) Sea b) Lake c) River d) Estuarine
(T G 0 Te 8 RIS Gl Ce:
a) & b) 3% o <t d) (=T
4. 5" June is celebrated as:
a) World Forest Day b) World Environment Day c¢) World Wildlife Day
d) World Population Day
¢R G eI~ B ]:
a) Ty @@y st b) Ry =ffJT= fast o) Ry et faast
d) R ST 4 st
5. Which of the following is a non-renewable resource?
a) Coal b) Forest c) Water d) Wild life
RS (FM0 W-NAFITC5 797 2
a) P b) SIS ) G d) I3 &A1=
6. Chipko Movement was started to conserve:
a) Forest b) Land c) Water d) Wildlife
oM ST (G ST 97 O &F =W:
a) IR b) G o) G d) IrTt
7. Acid rain is caused by the presence of gas/gases:
a) SO, b) NOx C) CO and CO, d) SO, and NOy
3 O AT TS /TR =4 -
a) SIETPIH BIR WHRG b) NIRCHITSH ARG FYR

¢) PRV VARG 8 FLN - T2 - WHRG d)  STETHIF U2 WHRGS NR(FION AF2GH

In Ecosystem energy flow is:
a) Unidirectional  b) Bidirectional c¢) Multidirectional d) None of these
BOCF & A=
a) AP b) fayf¥ o) XA d) (P63

0



9. Malaria is caused by:

a) Protozoa b) Bacteria c) Virus d) None of these
SO (@151 61 FR=:
a) (TGS b) WCH ¢) OIS d) (PG 77
10. Consumption of Fluoride containing water leads to:
a) Fluorosis b) Chlorosis ¢) Minamata d) None of these
Fluoride & GietICN T R
a) CFPICS 17> b) (FICAT T ) N0 d) (<RI 52 Y
11. The complex network of interconnected food chains are called:
a) Trophic level b) Food web c) Ecotone d) None of these
Y (T Goe WS [ Sre IS
a) BRFFST b) AMIGTeTP ¢) (I d) (PG T
12. The main layer of the atmosphere near the earth surface is:
a) Troposphere b) Mesosphere c) lonosphere d) Stratosphere
YR SN LT IS AT

a) [N b) (VTR ¢) ARG d) SEIOIFR

13. Which of these is known as most polluted city?

a) Mexico b) Tokyo c) New York d) Kolkata
AR KT (FIAID SICHTH F© *1=xJ?
a) (AT b) COIBCN OARICERES d) (1B
14. Sacred groves are especially useful in:
a) Conservation of wild animal and plant b) Preventing soil erosion
c) Preservation of coal d) None of the above.
YT TR (T RO FICGT AT
a) I AT 8 GfGW T76 b) WoF =7 (@14 F41
) T ALT5FA d) (FRGE 7T
15. In which temperature natural gases is converted to LPG?
a) -184°C b) -84 °C c) -212°C d) -34°C
(I OINATATY ATFOB 5T (F LPG (© AT F1 R?
a)-184°C b) - 84 °C 0-212°C d) -34°C
16. In which of the agencies is familiar as propagators of Community Health Education?
a) WHO and UNICEF b) WHO and IUCN
c) WTO and FAO d) WHO and UNESCO
TR WY (FINI6 SATNGE F1E FEFR (27F AN JAfR5w?
a) WHO and UNICEF b) WHO and IUCN
c) WTOand FAO d) WHO and UNESCO
17. In which process disposal of solid waste is not applicable?
a) Open dumping b) Incineration c) Composting d) Ocean dumping
(FN G FO~ IGT ML NS FI T 2ATIGY T2
a) CYSOII GNP b) SRIg® FI ¢) PCBS d) STYCH NOF 1

18. The “Environment Protection Act” was introduced in India in the year
a) 1980 b) 1986 c) 2001 d) 2010

CIATS AR ST W2 &P =Y (I S
a) 1980 b) 1986 c) 2001 d) 2010



19. National Disaster Management Act was established in which year?

a) 2004 b) 2000 c) 2005 d) 1990
T TS IRFIHNN W2 AfSFS =7 (FI I%(=?
a) 2004 b) 2000 c) 2005 d) 1990
20. Silent Valley lies in the state of
a) Bihar b) Tamilnadu c) Kerala d) None of these
STR(E6 Ol (F 00T WIB©
a) == b) OIfNeT=Ig ¢) (ATl d) (P2 7
21. Dengue occurs due to:
a) Protozoa b) Bacteria c) Virus d) None of these
Dengue (19 foq F==:
a) CSTCBITSIT b) AMFEI ) ©IRAT d) (FMGR 7T
22. An example of In-situ conservation is
a) Gene Bank b) National Parks c) Zoo d) None of these
In-situ STSTFN A7 JBT0 SATRAA Rl
a) fowa= b) BTG o fBofSTamr  d) (FWoR
23. Which one of these is not biodegradable?
a) Animal body b) Plant substances c) Polyethylene  d) Organic waste
AR WK (0 (G RS =7 /1
a) ATMMZ b) SfEwTT® I8 o) A= d) TR TG0
24. An example of renewable energy is:
a) Coal b) Petroleum c) Solar energy d) Firewood
NAFAN (90 2 ST JH6 TR =TT
a) Il b) (AN o) O & d) ST FS

25. Which of the following pyramid is never inverted?
a) Pyramid of biomass b) Pyramid of number c¢) Pyramid of energy  d) Both “a” and “b”
AR W& (I RIS Fe 2 {9t Y =7 A1

a) Gided FPrRING b) TR FRING o) =& RIS d) (a) &2 (b) G©F %
26. Cholera is a disease:
a) Food borne b) Water borne c) Air borne d) None of these
FEAAIFO @1
SRIGEIIES) b) G RS o) AL ATS d) (P62 N
27. Primary producer in a pond ecosystem is
a) Phytoplankton b) Zooplankton ¢) Fungus d) Bacteria
P AFOCF AANF T AMCH 1N 6 =0
a) TIR(CIATHCN b) GEITROA ) RAIF d) IR
28. The intensity of earthquake is measured in:
a) Decibels b) Linnean scale ¢) Richter scale d) Linear scale
GBI SIgor AR F41 =W
a) (G b) fetfasr~ (et o) fRo= %1 d) fef=s (et

29. Gujarat Cyclone and Orissa Super Cyclone occurred in the years
a) 1998 and 1999 b) 2001 and 2002 c) 2000 and 2001 d) 1997 and 1998

BGEI0 ARF 3 OOF SRFHN 0% IV (FIN IR
a) 1998 and 1999 b) 2001 and 2002 ¢) 2000 and 2001 d) 1997 and 1998



30. The percentage of Nitrogen in air is-

a) 21.6 b) 24.3 c) 78.4 d) 27.8
AT RGOS G7 SOBAT ATV ROl
a) 21.6 b) 24.3 c) 78.4 d) 27.8
31. “Ouch-ouch” disease is caused by the elements is:
a) Lead b) Mercury c¢) Cadmium d) Nickel
"HMSHOIGE” (AT G5 W ATQf6 =e:
a) ST b) IR <) BINGIIN d) et
32. The characteristic feature of Mangrove plants is
a) Pneumatophores b) Fleshy stems c) Stolon d) None of these
WIS Bfgn 93 (I8 =0
a) AT b) ZETCTOIN FIG o) GBI d) (P62 N
33. In which City the biggest nuclear accident had occurred?
a) New York b) Chernobyl c) Bhopal d) Beijing
(I *1XE JZSN AIAFILE THo~ TORA?
a) fNG 26 b) (BRI ) G d) AGe
34. Algal Blooms are connected with
a) Biomagnifications b) Eutrophication c) Trophic levels d) None of these
(G SIS SEFT =Y T e
a) ACIMIAFEN ~ b) TOHREEA 0) 4Ty B d) (FRGE 7T
35. All species on Earth together with their environments are collectively comprise
a) Lithosphere b) Hydrosphere ¢) Atmosphere d) Biosphere
GO 3K ARS8 O TS AP IFCT I =W
a) ferrZramE b) AN o)A d) TG
36. The State in which one horned Rhinoceros is most common in India:
a) Maharashtra b) Gujarat c) Assam d) Uttar Pradesh
HB7 TOTE OO ([ (W4T 1Y (T 000
OREEIE b) YGHIG ¢) STy d) G&F AT
37. Which hormone is responsible for Diabetes mellitus?
a) Insulin b) Testosterone c) Adrenalin d) Glucagon
YR @ISO G5 (I XA W2
OEELSER b) (BTBICSGAN ¢) SIGNIfeT= d) eJ_Iov
38. Which one of the following problems is not caused by noise pollution?
a) Diarrhoea b) Hypertension c) Deafness d) None of these
R (I ST RN 0 T A
a) G b) GEEIGHI o) I d) (FHGR

39. The maximum number of individuals which an environment can support is called
a) Optimum population b) Carrying capacity c) Population explosion d) Stable population
(T ST G ST AL 4 TR (M O I

a) PINT G b) IR I 0 G [REHRY d) E{CRIGACT R
40. Green revolution is associated with
a) Aquaculture b) Pisci culture c) Agriculture d) None of these
SIS RS TR ST ST

a) SURPIARBIEGIR RIEEIGIIES ) SIS d) (P2«





